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Pointing towards a photograph Mr. Ajit said,
“She is my father’s wife’s son’s only sister.”
What is the relation of the person in the
photograph with Mr. Ajit ?

(a) Daughter

(b) Mother’s sister
(¢) Cousin

(d) Sister

Three circles of radius 5 em each, touch each
other. If the points of contact are P, Q and R,
then what is the area of the triangle PQR in
sq. cm ?
213

6
2505

4

© 2—52£

@ 253

The right-angled triangle ABC is such that
ZB = 90°. Point D is picked on BC such
that triangles ABC and DBA are similar.
If AB : BC = m : n, what is A ABC : A ABD,
where A denotes the area of a triangle ?

(@ n:m

(b) n2:m2

(0 (m+n):n

(d (m+n)2:n2

On a large ground, there is a straight tall
vertical wall of length 28 m. A goat is tied to a
point on the ground which is at the middle of
the wall, using a rope. If the length of the
rope is 21 m, what is the area of the region
(in sq. m) around the wall that the goat can
access ?

(a)

(b)

(a) 847
(b) 851
(c) 693

(d 654

A rectangular wall is divided into four squares
of equal size where there are two rows each
having two squares. The top left square is
coloured with green. If, including green, there
are three colours available and each square is
coloured using any one of these three colours
such that no two adjacent squares get painted
with the same colour; then how many colour
combinations are possible ?

(@ 2

(b) 4
() 6
d 8
Car A takes 1 hour more than car B, which
travels at a speed of 60 km per hour, to cover
some fixed distance. If car A had doubled its
speed, it could cover the distance in 1 hour
less time than car B travelling at 60 km per
hour. What is the original speed of car A in km
per hour ?

(a) 30

(b) 40

(c) 45
(d 50

Suppose A, B and C are three taps fixed to the
bottom of a tank with draining capacity
1:2:3. When all three of them are on, it takes
1 hour to drain out the full tank. If A and C
are on but B is off, then how much time, in
minutes, will it take to empty out a full tank
of water ?
(@ 175
(b) 90
(¢) 105
(d 120
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Assume that the Earth is a spherical ball of
radius x km with a smooth surface so that one
can travel along any direction. If you have
travelled from point P on the Earth’s surface
along the East direction a distance of nx km,
which direction do you have to travel to return
to P so that the distance required to travel is
minimum ?

(a) Eastonly

(b) West only

(¢) East or West but not any other direction

(d) Any fixed direction

If x and y are two-digit prime numbers such
that y is obtained from x by interchanging its
digits and x — y = 36, then what is the value of
xy ?

(a) 1611
(b) 2701
(c) 4081
(d 5603

For how many pairs of vowels is the chance of
occurrence of any one of the two more than
34% in the book ?

(a)
(b)
(c)
(d)

< OO o b

Among the three vowels which occur
minimum number of times, what is the
percentage of occurrence of the letter that
occurs the maximum number of times among
them ?

6
42— %
(a) 7

5
b) 41-%
(b) .

40dq
7

393%
7

(c)

(d)

81.

If “O” and “U”, irrespective of upper or lower
case, occur exactly 5040 times, then how many
times does the letter “E” occur in the book in
the upper or the lower case ?

(a) 11840
(b) 11600
(e) 11430
(d) 11340

Suppose a, b and ¢ are three distinct natural
numbers such that a + b + ¢ = abe.

Consider the following statements :

1. The arithmetic mean of a, b and ¢ is a
natural number.

2. The harmonic mean of a, b and c lies
between 1 and 2.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

How many three-digit numbers are possible
such that the difference between the original
number and the number obtained by reversing
the digits is 396 ? (no digit is repeated)

(a) 4
(b)
(c)

5
50
d 40
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1. Which one of the following is the
difference of the sum of cubes of first

ten natural numbers and the sum of

squares of first ten natural numbers?
(a) 2400
(b) 2640
(c) 2880

(d) 2000

2. A person buys an item from a shop for
which the shopkeeper offers a discount
of 10% on the marked price. The person
pays using an e-wallet which gives 10%
cash back. Which one of the following
is the value of effective discount?

(a) 20%
(b) 18%
(c) 19%

d 21%

3. A solid spherical ball made of iron is
melted and two new balls are made
whose diameters are in the ratio of 1: 2.
The ratio of the volume of the smaller
new ball to the original ball is
(@ 1:3
(b) 1:5
fc) 2:9

(d 1:9

4. Suppose a bank gives an interest of

10% per annum compounded annually
for a fixed deposit for a period of two
years. What should be the simple
interest rate per annum if the maturity
amount after two years is to remain
the same?

(@ 10%
(b) 105%
© 11%
@ 12%

5. A runner’s average speed reduces by

25% every hour. If he runs 16 km in
the first hour and he runs for 3 hours,
then what is his overall average speed?
(@) 12 km/hr

(b) 12:33 km/hr

(¢) 1033 km/hr

(d 13 km/hr

30. The average age of father and elder son

is 35 years, the average age of father
and younger son is 32 years and the
average age of the two sons is 17 years.
What is the average age of the father
and his two sons?

(a) 30 years
(b) 27 years
(c) 28 years

(d) 29 years



31. A number is 124 more than its one-third. 34. If the average of the first four of five

What is that number? numbers in decreasing order is 25 and
the average of the last four numbers
(@ 194 is 20, then what is the difference
" between the first and the last number?
(b) 180 (@ S
(c) 189 @) 10
o 15
(d) 186
(d) 20

32. A car travels %th of the distance at

41. There is a group of 5 people among which
there is one couple. In how many ways
can these 5 people be seated in a row

a speed of 60 km/hr and the remaining
-}sth of the distance at a speed of

v km/hr. If the average speed for the having 5 chairs if the couple is to be
full journey is 50 km/hr, then the value seated next to each other?
of v is
(@) 24
(a) 40
(b) 48
(b) 30
(c) 60
(c) 100/3 @ 120
(d) 35

42. Two friends 10 km apart start running
towards each other at speeds of

33. Suppose A and B can complete a work 10 km/hr and 14 km/hr respectively.
together in 10 days. If B alone can After how much time will they meet
complete the work in 15 days, then each other?
in how many days can A alone finish
the work? (a) 20 minutes
(a) 20 days (b) 25 minutes
(b) 24 days (c) 28 minutes
(c) 25 days (d) 30 minutes

(d) 30 days



43. A coin is tossed 3 times. The probability
of getting exactly 2 heads is

1
(a) ':'3‘

(b)

oW

(c)

N =

(@)

ol

44. A test consists of 25 MCQs. Each correct
answer gives +4 marks and incorrect
answer gives —1 mark. If a candidate
scores 74 marks, then how many
questions were left unattempted?

(@ 4
(b) 3
¢ 5
(d 9

45. A person has a total of 100 coins
consisting of ¥2 and ¥5 coins. If the
total value of the coins is ¥320, then
the number of ¥2 coins is

(a) 40
(b) SO
(c) 60
(@ 70
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19. The following figure shows the image of 51. Eight metallic balls of one centimetre
a clock in a plane mirror : radius each are melted into one ball
The diameter of the new ball is

(@ 2 cm *

(b) 6 cm

fc) 4 cm ,é Aa‘
Which one of the following is the correct (d) 1 cm STUDY FUNDA
oo — OFFICER IN MAKING —
(@ 2:55 52. The ratio of monthly incomes of A and B

is 7:10. The ratio of their expenditures

is 2: 3. If each of A and B saves ¥ 1,000

(b) 3:45 per month, then what will be the
monthly income of B?

(c) 9:15
(a) ¥9,000
(d 9:25 () ¥ 10,000
¥ 15,000
54. A tree is at present 9 feet tall. If every (©
year it grows %th of its height, what (d ®12,000
will be the height of the tree after
~ three years?
(a) 12 feet 83. A and B together can finish a job in
20 days. B and C together can finish
(b) 12:34 feet the same job in 30 days. If A and C
together can finish it in 24 days, in how
(c) 13 feet many days can A alone finish the job?
(d) 13:10 feet (a) 35% days
85. If first March of a year is Sunday, which
day will be the first February of the (b) 37% days
next year?
(a) Friday () 342 days
(b) Tuesday
(c) Saturday (d) 332 days

(d) Monday



75. A, B and C start a business by 78. The smallest number which when

investing ¥ 7,000, ¥8,000 and ¥ 12,000 added to 10000 becomes divisible by
respectively. After a year, B gets ¥ 3,200 20, 24 and 30 is
as his share of profit. What is the total
profit? (@ 120
(c) ¥21,600 (d) ¥10,800
(c) 80
76. In a stock clearance sale, a shopkeeper (d 83

gives 40% off on all his items. He incurs
a loss of 25% by selling an item of
marked price ¥2,000. Which one of 79. Suppose the nth term of a series is

the following is the cost price of this 1+§+%_ If there are 20 terms in the

item?

series, then the sum of the series is
(@) ®1,800 S

(@) 1360
(b) ¥1,200 (b) 1450

1500

(c) €1,600 (@

(d) 1560
(d) ®1,400

: ! : 95. A shopkeeper gives two consecutive
77. The average age of Raj and his father is R ORtR.of . 1D%. and %6 mamactively
45 years. If the ages of the father and

g g on his items. He then adds 20% GST on
the grandfather of Raj are respectively his items. If an item has marked price

two and three times that of Raj, then the 2,000, how much more or less of
age of Raj’s grandfather is the actual price of the item a customer
has to pay?
‘a) 75 years
(@ y (@) 2'6% less
* ¥ %
(o) 90 years (b) 2:6% more
(c) 81 years (c) Same price
AN ) Ag
(d) 84 years (d) 52% more
STtuDY FUNDA




96. The difference of compound interest and
simple interest of a sum of money at
the rate of 5% per year for 2 years is
¥250. The sum is
(@) ¥1,00,000
(b) ¥80,000
(c) ¥40,000
(d) ¥1,20,000

97. How much water is to be added to 75 ml
of alcohol so that the mixture contains
25% of alcohol?

¥ %
(@ 100 ml
() 225 ml
() 250 ml wAN ) Ag
@ wsm  (STUDY Foroa

98. If 35% of a number is 416 more than
27% of the same number, then the
number is

(@ 5200
(b) 2600
(c) 3900
(d) 3328




113.

114.
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112. Which one of the following is the

greatest number by which the product
of three consecutive even numbers
would be exactly divisible ?

(@ 12
(b) 24
(c) 48
(@ o4

If 15% of A is double of 30% of B,
then what is the ratio of 4 to B ?

(@ 1:2
(b) '2:1
(c) 1:4

d 4:1 Stupy FUNDA

—— OFFICER IN MAKING —

The cost of gold varies directly as the
cube of its weight. A gold piece
weighing 20 decigram costs ¥1,000.
If it is broken into two pieces whose
weights are in the ratio 2 : 3, then what
is the profit or loss incurred ?

(a) 280 profit
(b) f280 loss
(c) 720 profit
(d) 720 loss

115. The average age of the boys in a class

116.

117.

is 12 years. The average age of the girls
in the class is 11 years. There are 50%,
more girls than boys in the class.
Which one of the following is the

average age of the class (in years) ?

(a) 11-2 years
(b) 11-4 years
(c) 11-6 years
(d) 11-8 years

A sum triples in ten years under

compound interest at a certain rate
of interest, the interest is being
compounded annually. In how many
years, it would become nine times ?

(a) 20 years

(b) 30 years

(c) 40 years
(d) 50 years
The number of ways by which

6 distinct balls can be put in 5 distinct
boxes are '

(@) 7776
(b) 15625
(¢) 720
(d 120



118. A wire of length 6 m is stretched such
that -its radius is reduced by 20%.
Which one of the following is the

119. The alphabets from A to J are

value of increase in its length ?

(@) 50% *’*ﬁ‘*

(b) 5625%

© 6225% | wAN/Ax
@) 75% STUDY FUNDA

120.

121.

numbered from 0 to 9 respectively.
Which one of the following is the
value of AGJ - CEG + EDB ?

(a) CFE
(b) DGF
(c) GFD
(d) FCE
A is the smallest positive integer which
when divided by 9 and 12 leaves
remainder 8. B is the smallest positive
integer which when divided by 9 and

12 leaves remainder 5. Which one of
the following is the value of 4 — B ?

(@ 3
®) 2
© 1
@ o
If South-east is called East, North-west
is called West, South-west is called

South and so-on, what will North be
called ?

(a) East
(b) North-east
(c) North-west
(d) South



122. If the day before yesterday was

Tuesday, when will Saturday be ?
(a) Today

(b) Tomorrow

| (c) Day after tomorrow

123.

124.

(d) Two days after tomorrow

What is the value of the missing
number ? '

(@ 9
®) 7
© 5.
@ 3

In a group of 100 children, 64 children
like to play cricket, 53 children like to
play football and 20 children like to
play both cricket and football. How
many children do NOT like to play
cricket or football ?

@@ 3
®) 5
© 7
@ 9

125. Two years ago, the age of A was three
times the age of B. If B is currently
9 years old, then after how many years,
the age of 4 will be double of the age

of B?

(a) 2 years
(b) 3 years
(c) 4 years
(d) S years

StupY FUuNDA

= OFFICER IN MAKING —




2,0 1 q &u&ﬁ ‘t.\ OM 43. If the first day of the year (other than

the leap year) was Sunday, then which

, was the last day of that year ?
40. What is the natural number n for which

3943124315 4 3 is a perfect cube of (a) Monday
an integer ? (b) Sunday
®-19 (c) Saturday
®) 1 (d) None of these
© 13 : :
44. A walks 10 metres in. front and 10
@ 14 : metres to the right. Then every time
turning to his left he walks 5, 15 and
41. If a circle and a square have the same 15 metres respectively. How far is he
perimeter, then now from his starting point ?
(a) their areas are equal (a) 55 metres
(b) the area of the circle is greater (b) 23 metres
than the area of the square
5 pai s v \gg)/s/ metres

(c) the area of the square is greater

than the area of circle (d) None of these

(;i) the area of the circle is two times ) ;
the area of the square ¥ 78. There are five friends — Sachin, Kunal,

Mohit, Amit and Sohan. Sachin is
shorter than Kunal but taller than

Glegir . Sohan. Mohit is the tallest. Amit is
- b OV little shorter than Kunal and little taller
yv=0, then 2 .
than Sachin. If they stand in the order
1. 2+u?=1 of increasing heights, who will be the
i third ?
2. 2 +V2=1
(a) Amit
3. xy+uv=0
Which of the above is/are true ? ®) than ]
(a) 3 only (c) Sachin
(®) 1and2only Stupy FunDA LA
() 1,2and 3 83. If the numerator of a fraction is
(d) 2 and 3 only increased by 200% and the deno-
minator is increased by 300%, the
105. If 5472=9, 6342=6 and 7584 =6, resultant fraction is -197- What was the
then what is 9236 ? original fraction ?
(@) 2 Gt @ P
®) 3 ® 4
(c) 4 (c) }7.;
d 5
@ @ B



7; 3

81.
_ given, out of which three are alike in

If M is brother of N, B is brother of N'
and M is brother of D, then which one
of the following statements is definitely
true ?

(@) N is brother of B

(b) N is brother of M
(c) N is brother of D
(d) M is brother of B

. If in a certain language GAMBLE is

coded as FBLCKF, how is FLOWER
coded in that language ?

(a) GMPVDS
(b) GKPVFQ
(c) EMNXDS
(d) EMNTDS

In this item, four words have been

some manner and the fourth one is
different. Choose the odd one out.

(a) Friendship
(b) Intimacy

" (c¢) Attachment.

(d) Enmity

. One-sixth of a number is 53. What will

be 57% of that number ?

(a) 13674
(b) 149-46
(c) 181:26

STtupY FUuNDA
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100. In a test consisting of 150 questions,
Neha answered 40% of the first 90
questions correctly. What per cent of
the 60 questions does she need to
answer correctly for her score in the
entire test to be 60% ?

(@ 75
(b) 80
(c) 85
d 90
116. Consider the following figure :
? 1
4 12

Find out the missing number from
among the following :

(@) 12
() 16
) 32
@ 48

101. By selling an article for ¥ 2700, a man
loses 10%. If he sells it for ¥ 3600, his

gain per cent is
(a) 15
(b) 18
(c) 20
(d) 25



102. The next term of the series BCYX,
* EEVU, HISR, KLPO; ...coin is

(a) NOML
(b) NOLM
(c) ONML
(d) ONLM
103. The least integer when muitiplied by
2940 becomes a perfect square is
(a) 10
(®) 15
(c) 20
(d) 35
104. When the digits of two-digit numbers
are reversed, the number increases by

27, the sum of such two-digit numbers
is :

(a) 235

(b) 249
(c) 213
(d) 180

114. If 2 [3] 4=14 and 3 [4] 6 =60, then
4[5]7="? :

(@) 72
(b) 84
(c) 96

(d) 108

StuDY FUNDA

—— OFFICER IN MAKING —

115. Consider the following series :
1,9,17,°33,749,*73, ..

Identify the missing number from the

following :
@@ 99
(®) 97
(c) 95
d 91




2o 8§ Cwehes.

17. Consider the following diagram :

An equilateral triangle is inscribed in a
circle of radius 1 unit. The area of the
shaded region, in square unit, is

n J3 it 1
{a) ST {b) B
n 3 T
(c) S (@) 5-1

18. In an examination, 53% students passed
in Mathematics, 61% passed in Physics,
60% passed in Chemistry, 24% passed
in Mathematics and Physics, 35% in
Physics and Chemistry, 27% in
Mathematics and Chemistry and 5% in
none. The ratio of percentage of passes
in Mathematics and Chemistry but not
in Physics in relation to the percentage
of passes in Physics and Chemistry but
not in Mathematics is

(@ 7:5 b) 5:7
© 4:5 d) 5:4

19. Consider the following diagrams :

mzoso 36 |54\ /30 |30\ .

Which one of the following is the
missing number in the diagrams given

above?
(a) 1 (b) 2
fc) 3 (@ 4

20. Which one of the following is the area of a
sector of a circle of radius 10 cm formed
by an arc length of 15 cm?

fa) 10n cm?
(b) 157 cm?
fc) 75 cm?

(d) 150cm?

21. On simplification the product

(%7 + )lxg + Y3) ... (X390 + Yyo)
how many such terms are there which
will have only single x and rest y's?
(@) 2'°
fb) 10
c) 20

@ 1

32. At what time between 2 o'clock and
3 oclock will the hour and minute
hands of a clock be 12 minutes division
apart?

(@) 12 minutes past 2 o’clock
(b) 18 minutes past 2 o’clock
() 24 minutes past 2 o'clock
(d) 30 minutes past 2 o’clock

33. If the number

22 x 5% x4% x 108 x6'° x15'2
x 8'% x20'6 x 10'8 x252°

is divisible by 10", then which one of
the following is the maximum value

of n?

fa) 78 & * "

(b) 85

(c) 89

@s | xANDAx
StupY FuNDA




34. Suppose a, b, ¢, d and e are five
consecutive odd numbers in ascending
order. Consider the following
statements :

1. Their average is (@ +4).

2. Their average is (b+2).

3. Their average is (e—4).

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 and 3 only

fc) 1 and 3 only

{d) 1,2 and 3

35. A king ordered to make a crown from
8 kg of gold and 2 kg of silver. The
goldsmith took away some amount of
gold and replaced it by an equal
amount of silver and the crown when
made, weighed 10 kg. The king knows

that under water gold loses ;léth of

its weight, while silver loses 1—loth. When

the crown was weighed under water, it
was 9-25 kg. How much gold was stolen
by the goldsmith?

{a) 1 kg b) 2 kg
fc) 3 kg (d) 4 kg

36. If a cubical container of length, breadth
and height each of 10 cm can contain
exactly 1 litre of water, then a spherical
container of radius 10-5 cm can contain

fa) not more than 4 litres of water

{b) more than 4 litres but less than
4-5 litres of water

(c) more than 4-5 litres but less than
S litres of water

(d) more than S litres of water

* ¥ %

AN ) Ag
StupY FUNDA
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42. What is the largest value for n (natural
number) such that 6" divides the
product of the first 100 natural

numbers?
(a) 18 (b) 33
fc) 44 (d) 48

43. The angle between the hour hand and
the minute hand of a clock at
10 minutes past 3 is

fa) 30° {b) 35°
(c) 37-5° (d) 40°

44. An international conference is attended
by 65 people. They all speak at least one
of English, French and German
language. Suppose 15 speak English
and French, 13 speak English and
German, 12 speak French and German
and 5 speak all the three languages. A
total of 30 people can speak German
and 30 can speak French. What is the
number of people who can speak only

English?
(@) 17 (b) 20
fc) 22 (@ 40

45, Suppose 72 =mxn, where m and n are

positive integers such that l<m<n.
How many possible values of m are
there?

(@) S (b) 6
(c) 10 d 12

46. Suppose x, y, z are three positive integers

such that x € y <z and xyz = 72. Which
one of the following values of S yields
more than one solution to the equation
x+y+z=S8?

(@ 13 b) 14

fey 15 (d) 16

47. Which one of the following is the

remainder when 1020 is divided by 7?
(@ 1 (b) 2
(c) 4 (d) 6



55. Consider an equilateral triangle ABC as
given in the following diagram :

A

Y

c B

Two people start at the same time from
points A and B with speeds 30 km per
hour and 20 km per hour respectively,
and move on the sides of the triangle in
the clockwise direction. They meet each
other for the first time at

{a) point C
{b) a point between C and A
{c) a point between A and B

(d) point A

56. The number of ways in which 3 boys and

2 girls can be arranged in a queue, given
that the 2 girls have to be next to each
other, is

(@ 12

(b} 24

fc) 48

(@ 120

57. The ratio of ages of a man and his son is

3: 1 After 15 years, the age ratio will be
2:1 What is the age of the man?

fa) 45 years
(b) 40 years
(c) 35 years

(d) 30 years

58. Two pillars are placed vertically 8 feet

apart. The height difference of the two
pillars is 6 feet. The two ends of a rope
of length 15 feet are tied to the tips of
the two pillars. The portion of the length
of the taller pillar that can be brought in
contact with the rope without detaching
the rope from the pillars is

(a) less than 6 feet

(b} more than 6 feet but less than
7 feet

() more than 7 feet but less than
8 feet

{d) more than 8 feet

AN Ag
StubY FUNDA
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68.

69.

Je( 7 Buarfiord.

70. Two men set out at the same time to
walk towards each other from points
A and B; 72 km apart. The first man
walks at the speed of 4 kmph while the
second walks 2 km in the first hour,

The difference between the compound
interest and the simple interest f(or
2 years on a sum of money is Rs. 60.
If the simple interest for 2 years is
Rs. 1440, what is the rate of interest ?

(@) 44%

® 61%
(c) 8%

@ 83%

A, B, C, D, E and F compared their
marks in an examination and found that
A obtained the highest marks, B obtained
more marks than D, C obtained more
than at least two others and £ had not
obtained the lowest marks.

Consider the following statements :

Statement 1 : At least two members

obtained less marks than
C

Statement 2 : £ and F obtained the
same marks

Which of the above statement(s) is/are
sufficient to identify the one with the
lowest marks ?

(a) Both 1 and 2

(b) Neither 1 nor 2

(c) 1 only

(d) 2 only

2% km in the second hour, 3 km in the

third hour, and so on. The two men will
meet

(a) in 8 hours

(b) nearer to 4 than B

(c) nearer to B than 4

(d) midway between 4 and B

78. The length of a rectangle is increased by

79.

60%. By what per cent would the width
have to be decreased to maintain the
same area ?

(@ 375 %

(b) 60%

() 75%

d 120%

Two pipes A and B can fill a tank in
12 minutes and 16 minutes respectively.
If both the pipes are opened together,
then after how much time, B should

be closed so that the tank is full in
9 minutes ?

(a) 3% min
(b) 4 min
() 41 min

(d) 4% min



98. In an examination, 25% of the
candidates failed in Mathematics and
12% failed in English. If 10% of the

88. Which one of the following is the
smallest number by which 2880 must be
divided in order to make it a perfect

candidates failed in both the subjects square ?
and 292 candidates passed in both the 5
subjects, which one of the following is @
the number of total candidates appeared = (b) 4
in the examination ? L Gl
: (©)
a) 300
(a) o)
(b) 400
() 460 A A | 89. A 3 digit number 4X3 is added to 984
& to get a 4 digit number 13Y7. If 13Y7
(d) 500 A is divisible by 11, then what is the value
STUDY FUNDARSSEE
99. 5% of income of 4 is equal to 15% of @ 15
income of B and 10% income of B is
equal to 20% of income of C. If the (b) 12
income of C is Rs. 2,000, then what is
the total income of 4, B and C ? () 1
(a) Rs. 20,000 (d) 10
(b) Rs. 18,000
(¢) Rs. 14,000 108. In an election which was contested by
@ Rs. 6,000 two candidates, X" and ¥, 4000 votes

80. One year ago, a father was four times
as Old us liis son. Aller six years his age
exceeds twice his son’s age by 9 years.
The ratio of their present age is

(@)MONFD
(b)BB11e53
(@) 12385
(d 13:4

100. If the product of n positive numbers is
* unity, then their sum i3

(a) a positive integer

(b) divisible by n

1
(¢) cqual to n+ ~

(d) never less than n

109.

were polled. Suppose that every vote
was polled in favour of either of the two
candidates. Candidate Y got 40% of vote
polled and was defeated. What was the
margin of defeat ?

(a) 500 votes

(®)
(c) 1200 votes

800 votes

(d) 1600 votes

The average of 7 consecutive odd
numbers is M. If the next 3 odd
numbers are also included, the average

(a)
(b)
(c)
)

remains unchanged
increases by 1-5
increases by 2

incrcascs by 3



117. Consider the following figure :

118.

116.

A E B
H F
D G C

What is the number of rectangles which
are not squares in the above figure ?
(Given that ABCD is a square and
E, F, G, H are mid-points of its sides)

(a) 14
(b) 16
(c) 20
(d) 21

Consider the following number :
n = [(6374)1793x(625)317x(313)49]

Which one of the following is the digit at
the unit place of n ?

(a) 0
(b) 1
(C)I2
d 5

Two positions of a dice with 1 to 6 dots
on its side are shown below : .

If the dice is resting on the side with
three dots, what will be the number of
dots on the side at the top ?

(@) 1
(b) 1ors5

(@) £

(d) 2 orS5s

Direction :
The next three items are based on the
information provided below :

Investment in various industries/sectors across
five years (in Rupees Hundred Crore)

Type ol
industry/sector 2005-06 | 2006-07 | 2007-08 | 2008-09 | 2009-10
Manufacturing 740 00 A0 A40 $10
Electrical 500 520 600 650 800
Services 420 480 500 600 750
Mining 440 500 550 600 660
Others 800 900 980 1110 1080

110. What is the percentage increase in
investment in the Electrical sector from
2005-06 to 2009-10 ?

(a) 30%
(b) 40%
(c) 50%
(d) 60%
111. During the given years, what is the
average investment per year for the

services sector (in Rupees Hundred
Crore) ?

(a) 490
(b) 550
(c) 580
(d) 670

112. During which one of the following years,
was the total investment maximum ?

(a) 2006-07 * X w

(b) 2007-08

(¢) 2008-09 A y-
d) 2009-10

@ StubpYy FUNDA
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Which one of the following figures correctly
represents the relations between Jupiter,

Mars and Planets?

- 14. Consider the following :
: .. L

a O b *

Which one of the following figures will
come in the blank space ?

00 =
88

Consider the following Statements and

Conclusions : ® |*
Statements : Mohan is a good sportsman. Awgg
Sportsmen are healthy.
Conclusions : I. All healthy persons are %
sportsmen. © ~
II. Mohan is healthy. : 83 A
Which one of the following is correct? . :
(a) Only Conclusion I follows @ A
(b) Only Conclusion II follows ~— 33
(¢) Both Conclusion I and Conclusion II
follow
(d) Neither Conclusion I nor Conclusion ’sA Aex
II follows STEEX.EH.I:{;D A




17. A vehicle with mileage 15 km per litre
15. Consider the following diagram (not in contains 2 L of fuel. The vehicle gets some
scale) : defect as a result of which 5 L of fuel gets
wasted per hour when the engine is on. With
what minimum speed the vehicle has to
move to travel 20 km with the existing
amount of fuel, if it travels with a uniform
speed ?
(a) 100 km per hour
(b) 120 km per hour
(¢) 150 km per hour
(d) 200 km per hour

There are seven places marked as P, Q, R,
S, T, U and V as shown in the diagram. The
directly connected paths between two places
are indicated by line segments joining the
two places along with the length labelled in
km. Then, the shortest distance between P

27 A device can write 100 digits in | minute. It
starts writing natural numbers. The device
is stopped after running it for half an hour.
It is found that the last number it was writing
is incomplete. The number is :

and Uis :

) 14k (a) 3000
() 15km (b) 3001
© 12km (c) 1026
@ 13km (d) 1027

28. A circular coin of radius 1 cm is allowed to
roll freely on the periphery over a circular
disc of radius 10 cm. If the disc has no
movement and the coin completes one
revolution rolling on the periphery over the

Paper | @ Paper 11 disc and without slipping, then what is the

& number of times the coin rotated about its

centre ?
v (a) 10

16. The number of persons reading newspaper
is shown in the following Venn Diagram
(Survey of 50 persons) :

Paper 11 (b) 10.5
(¢) 11 *
In a population of 10000, what is the number @ 12 * *
of persons expected to read at least two
newspapers ?
(a) 5000

(b) 6000
e AN J Ay

(d) 5400 Stupy FunDA
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52.

53.

54.

There are two concentric circles. The radii
of the two circles are 100 m and 110 m
respectively. A wheel of radius 30 cm rolls
on the smaller circle and another wheel rolls
on the larger circle. After they have
completed one revolution, it is found that
the two wheels rolled equal number of times
on their respective axes. What is the radius

of the other wheel ?

(@) 3lcm

(b) 32cm

(c) 33cm

(d) 34cm

A triangle is formed with vertices (0, 0),
(0, 100) and (100, 100). What is the number

of points inside the triangle with integer

coordinates? =
* *

(a) 5000
(b) 4999 /)

A i)
() 4851 L K

StupY FUuNDA
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Which one of the following is the wrong

number in the series 6, 14, 30, 64, 126 ?
(a)
(b) 64
(c) 14

126

@d 6

29

30.

51.

. Which one of the following is different from
the remaining three ?

(a) Triangle

(b) Square

(c) Circle

(d) Ellipse

Which one of the following inequalities is
always true for positive real numbers x,y ?
(@) xy>x+y

(b) (x+y)<(x+yy

© x+y<xi+y?

(d) l+x+y<(l+x+y)

In the diagram given below, there is a circle,

a square and a triangle dividing the region
into five disjoint bounded areas. Each of
these areas are labelled with number of
players belonging to that area. The circle
contains cricketers, the square contains

football players and the triangle contains

hockey players.

Which one of the following is net correct?
()
(b)

Every hockey player plays football
Every cricket player plays either
football or hockey

(¢) There are some hockey players who
play both cricket and football

(d)

There are some football players who

play neither cricket nor hockey



56.

57.

Ina school there are three batches of players
who play cricket, football and hockey.
An incomplete chart of number of students
playing an individual sport belonging to an
individual batch is displayed in the
following table :

Batch 1 | Batch Il | Batch III | Total
Cricket players 8 14
Football players 10 16
Hockey players 6 6 17
Total

Which one of the following is correct ?

(a) Batch Il is empty

(b) Batch I and Batch II do not have equal
number of students

(¢) Batch I and Batch III can have equal
number of students

(d) Batch II and Batch III can have equal
number of students

There are two boxes. Box I contains one
white card and two black cards and Box Il
contains one white card and a black card.
Two persons P and Q play a game. P picks a
card randomly from Box L. If P finds the
white card, P wins and the game stops. If P
finds the black card, Q draws a card
randomly from Box II. If Q finds the white
card Q wins. The game stops whether Q
draws the white card or the black card.
Which one of the following is correct?

(a) If P loses, Q wins
(b) IfQ loses, P wins
(¢) Both P and Q may win
(d) Both P and Q may lose

55. Given below is a figure of a square

transparent sheet with a pattern :
NN
i\
00

Which one of the following is the correct
figure showing how the pattern would
appear after folding the above mentioned
transparent sheet at the dotted line ?

(a)

(b)

(c)

(d)

A

<

o >>>>

0>>

o> o>

R
Ll
1

= |

R e =

o

| S

AN ) Ag
StubpY FUNDA
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58.

59.

60.

Suppose R is the region bounded by the two
curves Y = x? and Y = 2x? — 1 as shown in
the following diagram :

Two distinct lines are drawn such that each
of these lines partitions the regions into at

least two parts. If ‘n’ is the total number of
regions generated by these lines, then :

(a) ‘n’can be4 but not 3
(b) ‘n’ can be 4 but not 5
(¢) ‘n’canbe 5 butnoté
(d) ‘n’canbeb

Consider the following sequence:

0, 6, 24, 60, 120, 210

Which one of the following numbers will
come next in the sequence ?

(a) 240
(b) 290
©) 336
(d) 504

Consider the following figure :

Ly

Which one of the following is the number
of triangles in the figure given above ?

(a) 22
(b) 27
(c) 28
(d) 29

StuDY FUNDA
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66. Consider the following figure matrix :

£\

]

L1 > O

[E * X %
© AN ) Ag
? StubpYy FUNDA

Which one of the following will complete
the figure given above ?

(@)

®)

©

(d)

> B (B[

The next two (02) items are based on the

following Table :

The following table shows the frequency

distribution of weekly wages of 65 cmployees :

Wages (in Rupees) | No. of employecs
251—260 8 ]
261—270 10 i
271—280 16
281—290 14
291—300 10
301310 5
311—320 2 I

72. What is the percentage of employees earning
" less than Rs. 301 per week but more than
Rs. 260 per week ?

@@ 615
() 76.9
(©) 892
d) 84.6

Howd

. Consider the following figures :

€| 2y, O,

Q|| A,
O] 5 S

7

Which of the following group(s) of figures
fit/fits into the same class ?

1. (1,7,8)
2. (4,5,6)
3. (2,3,9)

Select the correct answer using the code
given below :

(a) 1and2only
(b) 2and 3 only
(¢) 1,2and3
(d) 3only



84.

85.

91.

‘A’, ‘B’ and ‘C’ started their independent
businesses with equal amounts of capital.
During the first year ‘A’ made 10% profit,
‘B’ incurred 10% loss and ‘C’ made a profit
of 5%. In the second year ‘A’ incurred 20%
loss, ‘B’ made profit of 20% and ‘C’ made
profit of 5%. Which of the following is
FALSE at the end of second year ?

(a) ‘C’ isthe richest
(b) °A’is the poorest
(c) ‘B’ isthe richest
(d) ‘C’isricher than ‘B’
At what time between 2 and 3 will the hour

and minute hands of a clock be 12 minutes
divisions apart ?

(a) 20 minutes past 2

(b) 24 minutes past 2

(c) 24 minutes past 2

(d) 241 minutes past 2 ‘

If in a certain language NEOMAN is coded

- as OGRQFT, then ZKCLUP is the code of :

(a) YJBKTO
(b) YIZHPJ
(¢) YIAQKJ
(d) YIZIRM

In an examination, there are three subjects
‘A’, ‘B’ and ‘C’. A student has to pass in
each subject. 20% students failed in ‘A’,
22% students failed in ‘B’ and 16% students
failed in ‘C’. The total number of students
phssing the whole examination lies
between :

(a) 42% and 84%
(b) 42% and 78%
(c) 58% and 78%
(d) 58% and 84%

Stupy Funpa

73.

What is the difference between the
percentage of employees carning between
Rs. 261 and Rs. 300 per week and
employees eamning less than Rs. 281 per
week ?

@) 369%
(b) 153%
(c) 24.6%
) 282%

The next two (02) items are based on the
following Table :

No. of students studying in different standards
of 6 different schools

tandard |
Schon Pl v v
A 42 | s4 | 48| s8 soi 38
B S0 | 60 | s8 | 45 | 4s | 46
C 40 | 48 | S8 | 46 | 42 54
D as | ss | 46| 40 | 52! so
E 48 | ss | aal ss| 52| a8
F si | 52| s | 42| 60! saf
78. What is the average number of students

79.

studying in Standard I from all schools
together ?

(@) S0
(b) 48
(c) 43
(d) 46

What is the respective ratio of students
studying in Standard III of schools A and B
together to those studying in Standard VI of
schools C and D together ?

(a) 53:52
(b) 43:47
(¢) 25:27
(d) 39:38

LAWJ

Stupy FuNnDA
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96. 65% students ina class like cartoon movies,
70% like horror movies, and 75% like war
movies. What is the smallest percent of

students liking all the three types of

movies ? % x

@) 10%

(b) 25%

| 0,

() 30% Stupy FUNDA
{d) 5%

102. 29* February of the year 2000 was Tuesday.
After this date how many times 29%*
February falls on Tuesday in the whole

century ?
(a 3
(b) 4
() S
d 6

103. How many numbers from 1 to 1000 are there
which are NOT divisible by any of the digits
2,3and57?

(a) 166
" (b) 266
(¢) 357
(d) 366

Stupy Funpa
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97. Consider the following diagram :

A B

A
(AN

O,

C

If the number of elements in ‘A’ is twice the

number of elements in ‘B’, then X is :
(a) 78

(b) 93

(c) 94

(d) 108

119. The age of ‘E’ is twice the age of *S’,
To find out the difference in their ages,

which of the following information is/are

sufficient ?

I.  After five years, the ratio of their ages
wouldbe 9:5

II.  Before ten years, the ratio of their ages
was 3 : 1

(a) Onlyl

(b) Onlyll

(c) Eitherlorll

(d) BothlIandII

120. Two racing cars of masses m, and m, are
moving in circles of radii r and r,
respectively. Their speeds are such that each
car makes a complete circle in the same time
‘t". The ratio of angular speed of the first to

that of the second car is :
(@ m:m,

(b) 1:1

() r:r,

d 1:2



117. Consider the following pattern :

<

The embedded figure in the given pattern

is.

(a)

(b)

/\
N

—

118. Which one of the following series of letters
follows a pattern and is different from the
rest ?

(a)
()
(c)
(d)

ADHMSZ
BEJNQX
DGKPUY
CFIOSZ

StuDY FUunDA
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70.

79.

85.

If three times of the first of the three

- consecutive odd intégers is 3 more than
twice the third, what is the third integer ?

Which one among the following is (@ 15
indicated by the following figure ? : (b) 11

b

@) a+ab+ab® +......... =ﬁ forb<1

b) a>b=> & >0
() (a+b)=a?+ 2ab+ b’
(d a>b=>-a<-b

How many squares are there in the figure
given below ? -

(a) 24
(b) 28 ° SIDE s
(c) 30
(d 32
Consider the following information :
1. Six books are kept one above the

other .

2. History book is just above Commerce
book and Mathematics book is just
above Civics book and just below
Physics book

3. English book is between History and

_ Civics books

Which book is between Mathematics book

and English book ?

(a) History

(b) Commerce

(c) Physics

(d) Civics

a (c) 9
d 5

b : 76.

If every alternate letter of English Alphabet
is written in lower case (small letters) such
that the 21 letter is in capital letter and
remaining letters are capitalized, then how
many vowels will be written in capital

letters ?

(a) 5
(b) 4
(c) 3
(dy 2

82. Consider the following pie graph deplctmg
budget of a family :

A Food

B Conveyance
C Clothing

D Miscellaneous
E Saving

F House Rent

How many degrees difference be there in
the central angle of the sector for savmg
and miscellaneous expenses ?

(a) 33°
(b) 36°
(c) 46°
(d) 60°



88. The right letters for question marks (?) in
the following series are :

91. If x is a positive integer such that A CBEG CGTD 2 2

2x + 12 is perfectly divisible by x, then

the- number of possible values of x is : (@ MN
@ 2 (b) LE
®) 5 (¢) GH
©) 6 (d IE
d 12 - 102. There are 28 steps in a temple. In the
time A, initially at the 28" step, comes
105. A class starts at 11:00 am and lasts ill ~ OWn two steps, B, initially at 1* step,

goes one step up. If they start
simultaneously and keep their speed
uniform, then at which step from .the
bottom will they meet ?

2:27 pm. Four periods of equal duration
are held during this interval. After every
period, a rest of 5 minutes is given to the

students. The exact duration of each period (a) 8"

is : - (b) 9*

(a) 42 minutes (c) 10*

(b) 48 minutes . (d) not poss_ible to meet

(¢) 51 minutes .

.(d) 53 minutes 115. Six roads lead to a village. They are

as A, B, C, D, E, F. When there is storm,
B is blocked. When there are floods, A,
D and E will be affected. When road D is

108. All letters of which of the following series blocked, C also is blocked. At a time,

of the English Alphabet appear same when when there are floods and a storm also
looked at in a mirror ? blows, which road/roads can be used ?
: (a B
(a) AC,H LM () C only
(b) H’ I’ M) N) 0 (C) F
(©) T,U V, WX (d) Cand E

@ S, T,U V,W

123.1f B’s mother is A’s mother’s daughter,
.118. In a family, the age of father, mother, son how is A related to B ?
and granc{sonG are A'; tBA C lgnd :I;) (a) Father »
i . Given tha - B =3,
g?::cgv‘fsyc + D = 33 and the average (b) Maternal uncle
age of the family is 34 years, then B -~ C (c) Brother
is : (d) Paternal uncle
(a) 19
() 20
(c) 21
d 22

Stupy FuNnDA
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Direction : Consider the information given
below for the next four items.

The following table gives demand and supply
of rice, in million ton, for the period 2008 to
2013. Surplus is defined as excess of supply

over demand :
Year | Demand | Supply
2008 43.3 46.4
2009 47.2 47.8
2010 49.5 50.7
2011 534 54.2
2012 54.5 57.3
2013 62.7 63.4

9%4.

95.

96.

97.

The increase in demand of rice was the
lowest in the year :

(a) 2010
(b) 2011
() 2012
) 2009

The average surplus (in million ton) rice
for the period 2009 to 2013 is :

(@) 1.53
(b) 1.22
() 1.44

L(d) 1.84

In how many years, the supply (in million -

ton) of rice was more than the average
supply for 2008 to 2013 ?

(a) 3
(b) 4
() 5
(d 2

The surplus of rice was lowest for the
year :

(a) 2010
(b) 2011
(c) 2013
(d) 2009

121. A distance X km is covered by two different
trains with velocity v (in km/hr) and kv
(in km/hr) in y and y + 3 hours respectively.
If y < 13 then k is less than :

5
(a) 3

11
® 6

3
(¢) 2

. 13
@)ig

125.1f GOLD is coded as EMJB, then code
NMPR stands for what ?

(a) ONQT
(b) ROTS
(c) PORK
(d) PORT

STuDY FUNDA
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!
N

A circle is drawn inside a square
of length 4 units as shown in the
figure given above. What is the area
of the shaded portion?

fa) 16-4n (b) 16-=

() 4-n (d) 4-2n

2. If the ratio of X to Y is § and the

ratioof Y to Z is %, then the ratio

of X to Z is

13 1
(@) 3 (b) 3
4 9
“ 13 @ 1

3. The sum of the base and altitude of

a triangle is 30 cm. What is the
maximum possible area of such a
triangle?

(@) 100 cm?
() 110 cm?
f¢) 1125 cm?
(d) 120 cm?

4. If 9 mangoes cost as much as

S oranges, 5 oranges as much as
3 apples, 4 apples as much as
9 pineapples and if 3 pineapples
cost ¥ 48, what will a mango cost?
fa) ¥9

(b} ¥ 12

{c) ¥ 18

d) € 27

50 A

W A3y 2"
B C

In the diagram (not to scale) given
above, the value of x is

fa) S1

360
(b) -

(c) 62?

4
@ 49

6. A campus poll covering 300 under-
graduate students was conducted
in order to study the students’
attitude towards a proposed
change in the rules for hostel
accommodation. The students were
required to respond as ‘support’,
‘neutral’ or ‘oppose’ with regard to
the issue. The poll outcome was
presented as a pie chart as given
below :

support
oppose

96°(\ ) 144°

The numbers for ‘support’, ‘neutral’
and ‘oppose’ are respectively

(@) 150, 90, 60 x * %
(b) 120, 100, 80 —
(c) 80, 100, 120

(d) 60, 90, 150

Stupy FuNnDA
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7. The following tables show the
expenditure (in percentage) of two
families A and B :

9. Through how many degrees does the
hour hand in a clock move as the
time changes from 3 hours and
12 minutes to 6 hours?

Family A Family B
20%| Miscellaneous 20%| Entertainment (@) 105
99
30%| Entertainment (b}
70%| Miscellancous (c) 90
50%| Food {d) 84
10%| Food
(Monthly income (Monthly income 10.
¥ 20,000) € 1,00,000)

Which one among the following
statements is true?

{(a) Family A spends as much on
miscellaneous as family B
spends on entertainment

(b) The food expense of family B
is equal to the total expense
of family A

fc) Families A and Bspend equally
on food

(d) Families A and Bspend equally
' on entertainment

8. Which one among the following

diagrams illustrates relationship
among animals, cows and horses?

@O O O
(b)

rd)@Q AN /g

StupY FUuNDA
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As shown in the above diagram, a
person starts from the centre O of
a circular path AB, walks along the
line indicated by arrows and
returns to the same point. If the
radius OA = OB = 100 metres, what
is the total distance walked to the
nearest metres?

(@) 703
(b) 723
(c) 743
(d) 823

11. If 5 persons can weave 160 mats

in 8 days, how many mats will
8 persons weave in 6 days?

(a) 200
(b) 192
(¢ 190
(d) 180



12. Two cars are moving in the same

direction with a speed of 45 km/hr
and a distance of 10 km separates
them. If a car coming from the
opposite direction meets these two
cars at an interval of 6 minutes,
its speed would be

15. In a class, 40 students passed in

Mathematics, 50% of the students
passed in English, 5% of the
students failed in Mathematics and
English, and 25% of the students
passed in both the subjects. What
is the ratio of the number of

students who passed in English to

fa) 45 km/hr that in Mathematics?
(b) S5 km/hr (@ 1:1
(¢) 65 km/hr (b) 2:3
(d) 75 km/hr fcj S:7
(d) 10:9

13. Which one among the following
figures will come next in the series

given below? 16. The least integer whose multipli-

cation with 588 leads to a perfect
. + . + o square is
o + o [ ] (a) 2
@ [ v [ (b) 3
o 4 + (c) 4
7

L] + L] ° d
@ | (@) “

17. The fifth term of the alphabet series

140 BCYX, Em’ H]SR' KLPO’—-?—-

is

(@) NOML
(6) NOLM
{c) ONML
{d) ONLM

>
O|lW|(®| D

D

X)

Which one among the following

from the given sheet of paper (X)? loses 10%. If he would sell it at

(a) (b) | :0)36(1);) Tlis gain percent is

(b) 15

(c) % (d) % (e 20
(d 25




1
19. In a certain code, ‘PLANT’ is written : ) o @1 eg,h ovg
as ‘$@2*© and YIELD’ is written L “
as B64@%’. How is ‘DELAY’ written
in that code? 5. Facing the east R walks straight
4 km, turns left and walks 3 km
*0, O,
a) B4*2% () B4@2% and again turns left and walks

fc) %42@P (d) %4@28 4 km. How far is R now from the
starting point?

20. IfAis coded as 1, Bas 3, Cas 5 and (@) 2 km
so on, which of the following is (b) 3 km
the numerical value of the word
‘FAZED’ if the numerical value of fc) 10 km
‘CABLE’ is 41? (d) 11 km
(a) 81 (b) 80
_ 6. Which of the following is the odd
(c) 79 (@ 77 one?
(a) 31
9. Three dice, whose all six faces arc (b) 41
marked ‘1’ to ‘6’, are thrown. The () 51
number of ways of getting a sum
of 16 is (@ 6t
(a) 3 7. The missing number in the box
(b) 4 3 | 7 |52
) 6 S 11 [ 126
9 107
(d) 12
is
{a) 6
33. An accurate clock shows 12 o'clock b) 18
in the noon. Through how many
degrees will the hour hand rotate (c) 26
when the clock shows 5 o’clock on (d) 36

the same evening?
8. The average of x, y and z is 30,

(aj 150° and the average of x and y is 20.
x ¥ % What is the value of z?
(b) 140° @ 10
. (b) 20
fe) 125 A 4( fc) 40
(dj 120° STEBI.EH}:{;DA d) 50




Directions :

The following two (2) items are based on
the given pie-chart which shows the annual
agricultural yield of a certain place :

Others
100° Sugg(r)c'anc

Wheat
60°

34. The yield of rice is how much percent
more than that of sugarcane?

(@) 40%
(b) 50%
(c) 60%
(d) 75%

35. If the yield of rice and wheat is
9000 tons, then the yield of excess
product of others in comparison
with sugarcane is

fa) 1000 tons
(b) 2000 tons
{cj 3000 tons
{d) 4000 tons

36. The World Conference on Human
Rights that affirmed the universality
of rights and launched an
ambitious plan of action was
held in

fa) Vienna (1993)
(b} Geneva {1996)
() New York {2000)
{d) Berlin {2002)

Directions :

The following two (2) items are based on
the given histogram that shows the
percentage of villages in the States which
are not electrified :

Percentage
w
o
1

A B C D E F
States
62. Which of the following States

has twice the percentage of
villages electrified in comparison

to State D?
fa) A by C
(c/ E (d) F

63. How many States have at least 50%
electrified villages?

{a) 1
(b) 2
fc) 3
(d) S

64. Consider the two positions of the
dice as shown below :

o o
° °

oo |o

oo
coo0o

When 1 is at the bottom, what
number will be on the top?

fa) 3

(b) S * ¥ %
(c) 6

(d) Cannot say
AN Ag
StubY FUNDA
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87. Consider the following years :

1600, 1700, 1800, 1900, 2000,
2100, 2200, 2300 and 2400

How many leap years are there in
the above?

{(a) None
(b) 3
{c) 6
(d) 9

109. Which one among the following

options is a word that can be
formed from the letters used in
INTELLIGENCE?

(a) SCIENCE

(b) NOTICE

(c) INCITE

{d) ENTAIL

110. Which one among the following

options is a word that cannot be
formed from the letters used in
INTELLIGENCE?

(a) ENTICE
*
(b) GENTLE A"
(c) ENGINE
AN Ag
(d) INTENT StupYy FUNDA

88. 10 identical coins are lying on a table

89.

having head ‘H’ face as the upper
face. In one attempt, exactly four
coins can be turned upside down.
What is the minimum total number
of attempts in which tail ‘T’ face of
all the 10 coins can be brought to
be the upper face?

(@) 4
(b) 5
{c) 6
d 7

If
X is richer than Y
Z 1is richer than X
P is richer than Z
Q is the richest of all

who among the following will
have the central position if they are
made to sit in the above degree of

richness?
(a) X (b) Y

() Z (d) P

90. A and B take part in 100 meters

race, where A beats Bby 10 meters.
To favour B, A starts 10 meters
behind the starting line in a second
100 meters race, running at their
earlier speeds. Which one among
the following is true in view of the
second race?

(a) A and B reach the finishing
line simultaneously

(b) B beats A by 1 meter
(¢/ B beats A by 2 meters
{d) A beats B by 1 meter



26.

27.

28.

29.

30.

o\ qey%l-}

Directions : Next five (05) items are based on the
information given below :

In a class of 84 students, boys and girls are in
the ratio of 5 : 7. Among the girls 7 can speak
Hindi and English. 50 per cent of the total
students can speak only Hindi. The ratio of
the number of students speaking only Hindi
to that speaking only English is 21 : 16. The
ratio of the number of boys speaking English
only to that of girls speaking English only is
3:5.

What is the number of boys who speak both

53. Given that
1. Some dentists arc Asians.
2. Somec Asians are nol pediairicians.
Which one among the following is not
implied ?
(a) Some people are not pediatricians
(b) No pediatricians are Asians
{c) Some Asians arc dentists

(d) There may be dentisls who are not
Asians

51. Ms. X goes to work by NH-2, She has a
meeting at 9-30 AM on a day and missing it

the languages ?

(a) 4

(h)y 5

(cy 3 ,,A
(d 2

x ¥ % may mean missing out a big opportunity for

her. On that day all day long NH-2 will be
closed for repair.

From the above statements, which one among
Aex the options given below follows ?

STUDY FUNDA (a) Ms. X will not be able 1o go 1o work on

—— OFFICER IN MAKING —

What is the number of girls who speak
English only ?

(a) 10
(b) 12
() 20
(dy 22

What is the ratio of number of boys who
speak Hindi only to that of girls who speak
Hindi only ?

(a) 10:11
(b 11:10
(c) 2:5
(d} 3:5

How many girls can speak Hindi ?

(a) 22
by 23
(e} 27
(d) 29

What is the .ratio of the number of boys
who speak English to that of girls who do
so ?

(a) 5:9
(b) 5:8
¢y 3:5

<o
[543

(d)

the day

(b) Ms. X will not be able to reschedule the
meeling to another day or another time

(c}  She surely will lose a big opportunity for
her

{d) None of the above

52. The statement ‘Everyone has a father, but not
every father has a son’ implies that

(a) every father has at Jeast one son
{b) not every parent is a2 male
(¢) some parents have daughters

(d) no father has just one son

110. If it is true that ‘all pollutants are harmful’,
identify which of the following is invalid to
infer from it ?

(a) Pollutants constitute a subset of harmful
things

(b) No pollutanis are non-harmful
(¢) If anything is harmful, it is a pollutant

(d) Some pollutants are harmful




Directions : The next seven (07) items are based on
the following diagram :

People with
two children

School >‘6\

79.

80.

78.

People living
in Urban Areas

Stupy Funpa
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Science

11

s 20 W
6 18 [SDAGS
24 37 40 17 / 292

Teachers 11
51
1|77, What is the number of school teachers

living in the cities and who have two
children, but are neither science graduates
nor women ?

(a) 18
(by 24
() 38
(d) 42

What is the number of city dwelling women
science graduates who are school teachers
and have two children ?

(a) 65
(b) 51
{c) 38
(d) 37

The total number of non-women science
graduates living in the urban areas is

(a) 11
) 37
(c) 65
d 76

What is the number of women school
teachers living in the urban areas who have
two children ? '

(a) 38
by 39 B

{c) 51

graduates

111.

81. What is the number of male science graduates
who are not living in the urban areas ?

(a) 22
(b 23
(c) 45
(d) 486

82. Whal is the number of male science graduales
who are not school teachers and do not live in
the urban areas, but have two children ?

(a) 20
(b) 21
(© 22
(d) 23

83. What is the number of males living in urban
areas who are not school teachers by
profession, not science graduates, and do not
have two children ?

(a} 5

b 1
() 51
(dy 62

If it is false that ‘no person can operate an
industrial plant for the purpose of any
scheduled industry in an air pollution
control area without the prior consent of
the State Board’, then, which of the
following may be validly inferred ?

(a) Some persons obtained the consent of
the State Board but did not run a plant
as industry in an air pollution control
area

(b) Somecone did not obiain the consent of
ithe State Board but ran a plant
commercially in an air pollution control

area

(¢} The State Board is the only authority to
give authorization for opening industry
in restricted air pollution control area

(d) Some arcas are under the jurisdiction of
the State Board



2010 Q\uo.&ehev!

1. Six friends A, B, C, D, E and F are seated

- in a circle facing centre. If F is between
A and D, C is between E and B, E is not
between D and C, and D is 2™ to the left
of C; which one of the following is the
position of D ?

(a) 2™ to the right of A

(b) Next to the right of B

(c) 3™ to the left of B

(d) 4™ to the right of A

A man is 24 years older than his son. In
two years, his age will be twice the age
of his son. Which one of the following is
the present age of his son ?

(a) 14 years

- (b) - 18 years

(¢) 20 years

(d) 22 years

The sum of ages of 5 children born at the
intervals of 3 years each is 50 years. Which
one of the following is the age of the
youngest child ?

(a) 4 years

(b) 5 years

(c) 6 years

(d) 10 years

A number consists of two digits. If the
digits interchange places and the new
number is added to the original number,
then the resulting number will always be
divisible by :

(a) 10

(b) 11

(c) 12

@ 13

Ms X drove at the speed of 45 km/hr
from home to a resort. Returning
over the same route she got stuck in
traffic and took an hour longer, also
she could drive only at the speed of
40 km/hr. How many kilometers did
she drive each way ?

(a) 250

(b) 300
(¢) 310
(d) 360

X, Y and Z can finish a work in 12, -
15 and 18 days respéctivcly. In how -
many days will all the three finish the
work ? ’

(a) 43
(b) 5

) 5%

@ 5%

If the ratio of the sum and difference of
two numbers be 17 : 13, which one of
the following is the ratio of the
numbers ?

(@ 12:5

() 15:2
(c) 9:8
d 2:15

Stupy FunDA
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Which one among the following is the
water image of the figure given above ?

(a) ——
I
(b) —
(c) l J
— )]
(@ /> T
. , mﬁ;

/\
XX
Y

How many triangles are there in the figure
given above ? '

(a) 10
(b) 1]
(c) 12
(d) 13

10.

24

11.

Two different positions of the same dice
are shown above. If digit 1 be on the base,
which one among the following digits will
be on the top ?

(@ 2

(b) 3

) 4

@ 6

- - - -

O 9 {}l

Which one among the following figures
will replace the question mark on the figure

- given above ?

@

®» {0

(© @

@

StupY FUNDA
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12. [ e Lot

e e

X Y Z

A sheet has been folded in the manner as
shown in X and Y and punched as in Z
above. Choose from the following how
~will it look when unfolded ?

(@)

13. Which one among the following figures

o | <>

© % StupY FUNDA
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o (8] o

does not follow the same trend ?

(c)

Next Two (02) Items are based on the following Table :
Installed capacity and production of vehicles over the years

(b)

(d)

Installed Capacity Production
- Category :
2005 | 2006 2007 2005 2006 2007
Tempos 700 790 895 412 518 586
Cars 475 544 580 366 336 303
Jeeps 140 140 140 105 120 133
Motor-bikes 775 775 800 680 700 799
Scooters 1500 1500 2000 1004 . 1500 1205
Autorickshaws 290 300 320 184 194 151
Capacity utilization = Production

Installed Capacity




Next Three (03) Items have problem figures and answer figures. You are to identify the answer
figure which will come at the end of the problem figure :

Problem Figures Answer Figures
16.
V] cu ncu SnNcuU U onc unocluncn [cusn Juunu
v cu ve cu cu
(a) (b) (©) (d)
17.
v v . v . . ) le] . .
o . . v lo] . * o v
. o] (o] (o] v v v v o]
) @ b (© @
18.

TT?T?TE

(a) ® (o) (d)

lél

3
T

léld
-4

-0

—
3
TI9TLT
Adolell

STuDY FUNDA
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19. Below are the sales figures for 3 different types of network servers over 3 months :

20.

Server January February March
Units Value Units Value Units Value

ZXC43 32 480 40 600 48 720
ZXC53 45 585 45 585 45 585
ZXC63 12 240 14 280 18 340

Which one of .the following servers had its unit price changed in March ?

(a) ZXC43

(b) ZXCS3 4

(c) ZXCé63

(d) None of them

Hard
Working People

12

Rural population

AN

e

Honest People

10

STtupY FUNDA
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Graduates

Consider the above diagram and identify from below the number which represents graduate
hardworking rural people who are mof honest 7°

(a) 2
(b) 3
(©) 5
(d 6



46. X is twice as massive as Y. X also runs

89.

90.

twice faster than Y. Which one among
the following is the ratio of kinetic energy
of Xand Y ?

(@) 1:8
(b) 8:1
(c) 4:1
dy 2:1

)9

&90 q &QQ&HG\’@

‘A’ completes a work in 10 days, while
‘B’ and ‘C’ complete it in 12 and 15 days
respectively. In how many days can ‘A’
‘B’ and ‘C’ together complete the work ?

(a) 3
(b) 4
(© 3
(@ 6

Kamla got married 6 years ago. Today

1
her age is lz times her age at the time

1

of marriage. Her son’s age is 10 times

her present age. What is her son’s age ?
(a) 2 years
(b) 3 years
(c) 4 years
(d) S years

STuDY FUNDA
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91.

92.

93.

94.

The number of times the hands of a watch
are at right angle between 4 p.m. to
10 pm. is :

(a) 6

(b) 9

(c) 10

(d) 11

If Saturday falls four days after today which
is 6" January, on which day did the first
of December of the previous year fall ?
(a) Tuesday

(b) Friday

(¢) Sunday

(d) Monday

‘R’ walks 1 km. to east and then he turns
to south and walks 5 km. Again he turns
to east and walks 2 km. After this he turns
to north and walks 9 km. How far is he
from his starting point ?

(a) 3 km.

(b) 4 km.

(c) 5 km.

(d) 7 km.

If WOMAN is coded as 12345 and
SERVANT is coded as 6789450, then
VOTERS will be coded as :

(a) 920786
(b) 902876
(c) 978206
(d) 972086

95.

96.

97.

Which will be the next term in the
following ?

KPA, LQB, MRC, NSD, .........

(a) OET

(b) OTE

(c) TOE

(d) EOT

The missing number in the following table

is :

11719

14 | ?

31105117
(a) 12
(b) 16
(c) 26
(d) 20

The following blocks are of the same
material. Which is the heaviest one ?

12 cm 12 cm 12 cm
! Lol
» -
«—6 cm—> «—6 cm—> > 6 cm
A B C
(@ A
(b) B
© C
(d) All equal ror 27y

Stupy FuNnDA
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98.

From the following Venn diagram identify
the number of persons who are either good
speakers or post graduates or doctors.

GS P
A GS — Good speakers
ov« P — Post graduates

n D — Doctors
D

(@ 6

(b 7

(c) 15

d 22

99. A person moves along a circular path by

100.

a distance equal to half the circumference
in a given time. The ratio of his average
speed to his average velocity is :

(a) 05

(b) 0'5n

(c) 075n

(d) 10

A square is drawn inside the circle as
shown in the figure above. If the area of
the shaded portion is 32/7 units then the
radius of the circle is :

(d) 2 units
(b) 2 units
(c) 3 units
(d) 4 units

101.

102.

The following figure shows the dis-
placement time (x—t) graph of a body in
motion. The ratio of the speed in first
second and that in next two seconds is :

1
T30

X 20
10
o 1 2 3
T

(@ 1:2
by 1:3
(¢) 3:1
@ 2:1

The below Venn diagram shows a city
population which read three popular daily
newspapers Hindustan Times (HT), The
Times of India (TI) and Navbharat
Times (NT) :

City Population

HT TI

ey |

NT

If a person is randomly selected from the
city population and it is found that he
reads at least one of the three newspapers
then the person belongs to which part of
the population ?
(@ g

(b) a+b+c
(c) P-h

(d) P-g

Stupy FunDA
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103.

104.

o 00 *|0 00 A
b
X X X
- x|1 X [— x|1 X

Which is the next figure in the sequence
given above ?

@ s 5
X
X
- X
®) [o
1 X
(c) o
X
X
- X
(d) |o
X
- X
Consider the following :

1. Every square is a rectangle.

2. Every rectangle is a parallelogram.

3. Every parallelogram is not necessarily
a square.

Which one of the following conclusions

can be drawn on the basis of the above

statements ?

(a) All parallelograms are either squares

or rectangles.

A non-parallelogram figures cannot

be either a square or a rectangle.

All rectangles are either squares or

parallelograms.

Squares and rectangles are the only

parallelograms.

(b)
()
(d)

105.

106.

i .
itur

H

(=

o

o

Distribution of work hours in a factory is
shown in the below given table :

Number of Number of
workers hours worked
20 45—50
15 40—44
25 35—39
16 30—34
04 00—29

What is the percentage of workers worked
for 40 or more hours ?

(a) 40
(b) 25
(c) 3333
(d) 4375

A

i

3000 4000 6000 10,000
mcome/month (in Rs.)
From the above graph, who out of the
four persons A, B, C and D, saves the
least percentage of his monthly income ?
(@ A
(b) B
() C
(d D

Stupy FuNnDA
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107.

108.

In the above diagram square represents
boys, circle represents the tall persons,
triangle represents tennis players, and
rectangle represents the swimmers. Which
one of the following numbers represents
tall boys who are swimmers, but don’t

play tennis ?

(a 4
(b) 3
(c) 6
d 5
3m
]
o
E Im
Im g
E o
h 3m

The carpet area of a room with dimensions
shown in the above diagram is :

(a) 10 m?
(b) 12 m?
(c) 13 m?
(d 14 m?

109.

110.

111.

B
F
E
2
A p
6 —

In the figure given above BAC = 90°,
EA =2 and AC = 6. What is the value of
BE ?

(a) 2

(b) 4

(c) 6

(d) 10

8 oranges cost as much as 5 apples,
5 apples as much as 3 mangoes, 4 mangoes
as much as 8 pineapples. If 3 pineapples
cost Rs. 36, then an orange’s cost is :

(@) Rs. 9
(b) Rs. 12
(c) Rs. 6
(d) Rs. 15

If a ® b is defined as a® + b* then
consider :

I 2&x=100
I 4&x=145
I 3@®&x =145
IV 6 ® x =100
For which of the above, is x smallest ?
(@ 1
(®b) 1II
(c)y M
d v

StuDpY FUNDA
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112.

113.

114.

In a test a candidate attempted only
15 questions and secured full marks in
all of them. If he obtained 60% marks in
the test and all the questions in the test
carried equal marks, the number of

questions in the test is :
(a) 20 |

(b) 25

(c) 27

d) 30

The grandfather’s age is 4 years more than
nine times the age of the grandson. The
father’s age of 40 years is 2 years less
than six times the age of his son. The age

of the grandfather is :

(@) 77 years

(b) 70 years

(c) 67 years

(d) 63 years

If 4 = 10> and 9 = 107", then 0-15 equals
to :
(a)
(b)
©
(@)

1 Qam2n
1gm
10
107!

Stupy FUuNDA
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115.

116.

117.

Among the following four diagrams, which
one illustrates the relationships among
citizens, voters and males ?

(a)@ O

(b)

- @

o O

The mean age of combined group of men
and women is 25 years. If the mean age
of group of men is 26 and that of group
of women is 21, then percentage of men
and women in the group respectively is :
(a) 60, 40
(b) 80, 20
(c) 30, 70
(d) 50, 50

Which two figures out of the following four
have the same area (with same units) ?

22
1 2

22 22 @
23

3 4
1 and 3
1 and 2
2 and 4
1 and 4

CY

(a)
(b)
(©)
)]



118. Three circles are concentric as in the
diagram given below. If a fourth innermost
circle is drawn, what will be the number

to be inscribed there ?

121
256
11 . 16
9
3 6 1
169 8
324
(a) 8
(b) 7
(© 3
@ 1 StupYy FuNDA

119. The width of a rectangle is 4x which is
only 25% of its length. What are the area
and the perimeter of the rectangle
respectively ?

(a) 16x? squnit and 16x unit
(b) 20x? squnit and 40x unit
(c) 32x? squnit and 64x unit
(d) 64x? squnit and 40x unit

120. The following diagram shows a triangle
with each of its sides produced both
ways :

6 3
/s 4\

What is the sum of degree measures of
the angles numbered ?

(a) 720

(b) 540

(c) 1080

(d) 900

Directions : Each of the next FIVE (05) items
consists of two statements, one labelled as the
‘Assertion (A)’ and the other as ‘Reason (R)’.
You are to examine these two statements
carefully and select the answers to these items
using the codes given below :

Codes :

(a) Both A and R are individually true and
R is the correct explanation of A

(b) Both A and R are individually true but R
is not the correct explanation of A

(¢) A is true but R is false
(d) A is false but R is true

121. Assertion (A) : Import of Chinese toys
was recently banned by
the Government of India.

: The plastic material used
to make the toys are not
biodegradable.

33

Reason (R)



